Sopvciond EXAMEN 003, € 7V F ECOACTONES
Y SISTEMES

m Resuelve (‘35 ByC &CA&)
&) %-3 _ Sx+d A~ X . 8(x-3) it Bred )= 428K 4
LA 3 C /
3x-9 ~-4ox — 2 =4 —‘{x/ qx+3%x-40x =4+ 9+L 2x =42, X=6
L) 2X+5x =0 ; x(2x+5)=o0 1*Z&
d -
B B =9, 2"2'5)%; 3
i B z
g = Padgs = P R o _4xn =
= X2 = " = == |
2 208 -k Ay y
o n ¥ 4 D=
ﬁL) 400){“‘26:: /Q A\X,_.{:Cb/ th;?-:,(/ K:—E‘— / (:i“%:(;{
[ﬂﬁ&ueﬁv-é: |
@) (2 +4) = It (- xt1) 4k bx 1= 1+ xq’—*s/'- x4 X+ 4=
) R e ;iﬂﬁ#:“‘fiz z/"é/'
23 6 & N
-4
Z, R
QP))C‘+4 ¥ =4 z ‘ 4. ki © b |
— = = AN LY el = Wl $EK - =0
‘?(()(—Q) = O gxf—;‘—?’
A6 AL/ S
(3] Fesuelve >
Y o ; il % & v e
of B4RV 1 dE-lges hp Bl =28 =8 8y =Ty e
4 x+1a:“ 42%%@3 =42 \
e S8 . ww
L8 = (fq /\ X= ‘221 / é}g/
0) 3ixez) = §+3 ])3><H;:=\a+1 Szx-ﬁ‘a:-& } 3(/;'2“23)*'3:
X+ 2LgE0) =© ><+fz..a+220 s Z KT“Z"Z;}
hve
e B Xm~-RH) =l x’_;g

mé—ga—— % :4/',7-‘% :qL/- é;j/



) - & E,
& 2 mezchs de cafe {;:?SS;‘;}
=S

&M&z% Z@Kg @éz/m%(,éiz_ A :}&/Kg

6 X + S,S_VZ} = \ZOQLE é~(20-~3)+g(§3 = 190 J 120 -€9 +8.5Y =440,
/T\

2 W= 20 --Cl;\ ,ﬁ._‘.k__w_\

\

¥ .{,(\] = 20 ety

; . VAT -
ZISS:Q/@/=6=-*":9 /5:“3’2;53,%5 > x=20-3, =121 =

;5
A= 33m" | h ho(zhts)=33 ; 2k roh -33 =
—oaq ; %
| | _ o
ehes | _eimaeer srV 28] BE(
= 24, 4 }{
2/ )?,e,cf’a:p\{ wls &y di ’/l’:lXB o, .
2-3+5 = 4] —d

‘ o i : & /Lﬁ)dﬁ’) h ) : |
<) I\fe-g'(iL lo saca QT aines 4 &) ( c? /%LW_}_? )('HZ:Z('\JHZ)

x) )
Dol de 42 abory Noelia fondnsl &b dofle
X:a%ll

et ;2-64—2'—“5»;#) 03 ) 2 ZD. a /! 3/"5
z 3 eg v e [‘ ;!
et e q’/ —





